Seat No.: Enrolment No.

GUJARAT TECHNOLOGICAL UNIVERSITY

DIPLOMA ENGINEERING - SEMESTER-C to D Bridge Course EXAMINATION -Summer- 2019

Subject Code:C320003 Date: 03-06-2019
Subject Name: ADVANCED MATHEMATICS(GROUP-2)
Time:10:30 AM to 12:00 PM Total Marks: 70

No.

Instructions:
1. Attempt all questions.
2. Make Suitable assumptions wherever necessary.
3. Figures to the right indicate full marks.
4. Use of programmable & Communication aids are strictly prohibited.
5. Use of only simple calculator is permitted in Mathematics.
6. English version is authentic.

Question Text and Option. U< i [Ascul.
If A(5,-1) and B(-3,5) then co-ordinates of midpoint of AB are

A (12 B. (-1,2)

C. (1,3) D. (1,-3)

A (5,-1) s B(-3,5) W2 AB <l w2zl M 214

A (12 B. (-1,2)

C. (1,3) D. (1,-3)
Distance between two points (4,3) and (1,2) is :

A V12 B. Vi1

C. V10 D. V15

[oiz2l (4,3) 2 (1,2) 422 2id2 4,

A 12 B. V11

C. V10 D. V15

If A(3,5), B(-1,3) and C (2,2) are vertices of triangle then

A. msZA =90° B. m«B=90°

C. mzZC=90 D. None of above
ol [6igaill A(3,5), B(-1,3) 21 C (2,2) silsiviei [a2iloig2Al six dl

A. mZA=90° B. m«B=90°

C. mzZC=90 D. None of above
Midpoint of line segment AB is M(5,-2) and A(2,-7) then coordinate of Bis .
A. (0,8) B. (8,3)

C. (0,3) D. None of this
oL IVl AB Al HeA[slgAl M M(5,-2) S1A el A(2,-7) 1AL dlL B <l A 1D
A. (0,8) B. (8,3)

C. (0,3) D. None of this
Equation of line having slop -1 and passing from the point (2,1) is

A x+y—-3=0 B. x—y+3=0
C. x—y—-3=0 D. x+y+3=0
(6l (2,1) wigll vz adl i -1 gl Aoil vt Als20 9P
A x+y—-3=0 B. x-y+3=0
C. x—y-3=0 D. x+y+3=0
X-intercept of the line3x + 2y —6 =0 is

A 2 B. 3

C. -6 D. -2

4L 3x + 2y — 6 = 0 <l Xvidovig A,

A 2 B. 3
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C. -6 D. -2
If two lines 5x + 2y — 3 = 0 and kx + 2y + 7 = 0 are parallel if k=

A 2 B. -7
C. 5 D. -3
AL oL AL Sx+ 2y —3=02dkx +2y+7 =0 Anidz sl dl k=
A 2 B. -7
C. 5 D. -3

Perpendicular distance between two lines 12x — 5y + 5 = 0 and
12x —5y—8=01is
A 2 B. -2

12.

2.

13.

13.

14.

Y.

15.

C. 1 D. -1

6L 2B 12x — 5y + 5 = 0 244 12x — 5y — 8 = 0 422 doied? £,
A 2 B. -2

C. 1 D. -1

Equation of the line passing through two point A (2,3)and B(7,5)is___.P
A, 2x+5y+11=0 B. 2x-5y+11=0

C. 2x+5y—-11=0 D. 2x-5y-11=0
A(2,3)24B (7,5) Hizl uaiz adl v uHlsza £,

A, 2x+5y+11=0 B. 2x-5y+11=0

C. 2x+5y—-11=0 D. 2x-5y-11=0

Slope of the line passing through the point (8,5) and (1,-2) is :

A -7 B. 7

C. 1 D. -1

[6iz2il (8,5) il (1,-2) Hizdl uuIR adl il 2l £,

A -7 B. 7

C. 1 D. -1

Equation of a circle having centre (1,2) and radius 3 is .

A (x+1D2+(y+2)2=3 B. (x—1*+(y—-2?=3
C. (x+1D2+(@y+2)?2=9 D. x—1D*+(@—-2)?=9
3¢ (1,2) 2 Bioral 3 1ol ddoie uHlsze 9.

A x+1D2+@y+2)2=3 B. x—1D*+(@-2*=3
C. x+1D*+(@y+2)?2*=9 D. x—1)%?+(y—-2)*=9
If equation of circle is x? + y? — 4x + 6y — 7 = 0 then centre of circle is =__.
A (2,3) B. (-2,3)

C. (2-3) D. (-2,-3)

ol x2 +y2 —4x + 6y — 7 = 0 A0l A4l €A Al Adie 5eq 9.

A (2,3) B. (-2,3)

C. (2,-3) D. (-2,-3)

Equation of the normal circle x2 +y2 =r2 at the point (X1, y1) is

A xy1—-x1y=0 B. x1y —xy1=0

C. xqy +xy1=0 D. xiy —xy1+c=0

Adn X% +y2 = r? i (olg (xa, y1) 2090 siMdod uxlsze 2L,

A, xy1 —x1y=0 B. x1y —xy1=0

C. xay +xy1=0 D. x1y —xyi+c=0
Radius of the circle x2 + y> —2x + 4y — 1 = 0 is :

A 6 B. v

C. 2 D. V7

40 X2 +y2 - 2x + 4y — 1 =0 <il Boral A,

A. 6 B. V6

C. 2 D. V7

If f(x)=2*—log,x, then f (2)=



u.

16.

17.

9.

18.

<.

19.

20.

20,

21.

29.

22.

A 2

C. 3

ol f(x)= 2*—log,x, siddl f (2)
A 2

C. 3

If f(x)=1logxthen f(x)+ f(y)=...
A flx+y)

C. flxy)

o1 f(x) = logx éPidl f(x) + f(y) =
A flx+y)

C. flx-y)

If f(x) =z—:thenf(§): .
A —f(x)

C. 1

SfLf(x) =2 ddi () =

A —f(x)

C. 1

If f(x) =cosx thenf(%n—x) =

A. -sinx
C. cosx
~ ~ 3
o5l f(x) = cosx ¢l4dl f(;—x) =
A. -sinx
C. cosx
If f(x)=1log,x then f(4) =

A 1
C. 0

oA f(x) = log,x Sl dl f(4) =

f(x)
0

f(x)
0

sin x
—C0S X

sin X
—C0S X

NN

NN

log, 5

log, 5
5

w |
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L2,

23.

<3.

24,

LY.

25.

LU,

26.

Q.

27.

9,

28.

L.

lim

x >0

2%+sinx—1

X

A. log,2+1

C.

lim
x >0

1

2%+sinx—1

X

A. log,2+1

C.

1

lim tan 5x

X
A
C

0
3
5
1

lim tansx _

— ( sin3x

1on?+2n—-1 _

n —» oo 5n2-3n+4

A
C.

(0]

10

lim
n —» oo 5n2-3n+4

A
C.

(0]

10

1on?+2n—-1 _

lim x2+3x+2

x -
A.
C

x -
A.
C.

lim

0
0

5x -2

=1
lim x2+3x+2 _

0
0

5x —2

-1

4x—-3sinx

x > (0 2tanx—x

A 4

C.
lim

1

4x-3sinx

x > (0 2tanx—x

A 4

C.

1

None of this

5

3
None of this

o

o

w

w
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29.

30.

30.

31.

314.

32.

32,

33.

33.

34.

3%7.

35.

lim x3-8

X > 2 x2
A -12
C. 8
lim x3-8
X —2x2
A -12
C. 8
d _
- (cotx) =
A. COS X
sin x
C. —cosec?
d _
- (cotx) =
A Cosx
sin x
C. —cosec
d —1y) —
- (sec™'x) =
A. 1
V1 — x2
C. 1
x|V x2 —1
< (sec™x) =
dx
A. 1
Vi-ax?
C. 1
x|V x2 —1
L (sinx +cos?x ) =
dx
A 1
C. -1
L (sin?x +cos?x ) =
dx
A 1
C. -1
= (Vo) =
dx _—
A 1
c. 1
2vx
d —
—(x)=__ .
A 1
c. 1
2Vx
d o _
- (sin 2x) =
A. 2sin2x
C. -2sin2x
a . _
— (sin ?x) =
A. 2sin 2x
C. -2sin2x
d . _
— sin (log x) =

cosec’x

COot X - COoSecC X

cosec?x

Cot X - COSec X

x2 -1
|x|]V1— x2

1

x2—1
1

|x|]V1— x2

0
2 sin X - COS X

o

2 sin X - COS X

2l vl

2l sl

2 COS 2X
—2 COS 2X

2 COS 2X
—2 C0S 2X
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3U.

36.

3.

37.

39.

38.

3<.

39.

3.

40.

0.

41.

A. cos (log x)

X
C. CosXx

X
d . _
— sin (log x) =
A. cos (logx)

X
C. Cosx

X

Differentiation of sin x w.r.t. cos x is

A. tanx
C. cotx

sinx < cos x <l A& [Asa

A. tanx
C. cotx
d 1
w () T ——
A. 3
(3x +5)2
1
€3
d 1
ax (res) T ——
A. 3
(3x +5)2
1
C 3
L (3+3+3%) =
dx
A, 32+ x-3%1+3(3)?
C. x3+logx + 3*log3
L (3+3+3%) =
dx

- ~ ~ d
sflu=tan " lx, v =cot lx, cladl ==

dv

Y.

dv

A 32 +x-3%1+3(3)?

C. x3+logx + 3*log3

Ifu=tan~lx, v =cot 1x,then au _
A1

C. 0

A 1

C. 0

d
If y=Xxcosxthen ==
dx

A. 1-sinx
C. cosXx+xsinx

64y = X COS X 14 dl
dx

A. 1-sinx
C. cosXx+xsinXx

N _

B.
D.

- cos (log x)

X
1
cos(x)

- cos (log x)

X

1
cos(;)

—tan x
—cot x

—tan x
—cot X

1

~ (3x+5)2
3

(3x + 5 )2

1

C (3x+5)2
3

(3x+5)?

3x% + 3* log3
3x% + x log x + 32

3x% + 3* log3
3x% + x log x + 32

-1
None of above

-1

None of above

—sin x
COS X — X Sin X

—sin x
COS X — X Sin X

If equation of motion of a particle s(t) = t> — 6t + 8t — 4, velocity at

t=4secis
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4.

42.

TR

43.

v3.

44,

wY.

45,

wU.

46.

ve.

47.

g3

48.

A. 12m/sec B. 8m/sec
C. 12m/sec? D. 8m/sec?
25 50 HI2 Ald uulszil s(t) =3 — 62 + 8t — 4, Sl Al t =4 U5« HI2 L
A|A.
A. 12m/sec B. 8m/sec
C. 12m/sec? D. 8m/sec?
Function f(x), if then f(x) has minimaatx =2.
A f'(2)=0f"(2)>0 B. f/(2)=0,/"(2)<0
C.\ f'(2) < 9,f"(2) >0 o _ D. f'(2)<0,f"(2) <0
(@82 f(x) wiz, Sl Al f(x) <l [5Hd x = 2 200000 <4AdH 214,
A f'(2)=0f"(2)>0 B. f/(2)=0,/"(2)<0
C. Zf’(2) <0,f(2)>0 D. f(2)<0,/"(2)<0

d
If e (cosx + 2)
A. —cosx +2 B. —cosx
C. cosx+2 D. cosx

dZ
If —— (cosx +2)
A. —cosx +2 B. —cosx
C. cosx+2 D. cosx

_ _ d*y
If y=secH and x =tanf then 2=
A. sinf B. cos6
C. tan6 D. None of this
=~ ~ ~ ~ 2

oy =sech vidx =tand Gl dl T3 =
A. sin6 B. cos6
C. tan6 D. None of this
d(sin’x)

dx '
A. cos?x B. 2sinx
C. 2sinx cosx D. —2sinx cosx
d(sin’x) _

dx '
A. cos’x B. 2sinx
C. 2sinx cosx D. —2sinx cosx
[tanxdx =
A. log|sinx|+c B. log|cosx|+c
C. log|secx|+c D. log |cosec x |+c
[tanxdx =
A. log|sinx|+c B. log|cosx|+c
C. log|secx|+c D. log |cosec x |+c
1] ; dx =
A. 5log|x|+c B. 0
C. 5 D. 5

. x2
f ; dx = .
A. 5log|x|+c B. 0
C. 5 5

x2
tan® x dx = +C.

J -
A. secxdx B. secx-tanx
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L.

49,

1S

50.

Yo,

51.

uq.

52.

e,

53.

us.

54,

uy.

55.

C. tanx-x
[tan? xdx = +cC.

A. sec xdx

C. tanx-x
f sSinx dx — + C

cosZx

A. tanx
C. secx-tanx

f sinx dx = +C.

cosZx

A. tanx
C. secx-tanx
[sin3xdx =

A. cos3x+c
C. —3cos 3x+cC

[sin3xdx =
A. cos3x+c
C. —3cos 3x+c
fol x dx =

A.

o
| N | =
N| =

O P>s
IR
QU

=

I

|2
3 el
~

5> + cosec3x) dx =

o>

5> + cosec3x) dx =

|
=|=l
~
O Ul w OO0 w

o>

0>
&
S5
=
QU
S
1

~—
3
+
[«5]
=
=
IS
=
11

o>
S

-

[cos(2x —3)dx = +C .

A. —sin(2x — 3)
C. —sin(2x —3)
2

[cos(2x —3)dx = +C .

A. —sin(2x — 3)
C. —sin(2x —3)
[(sin?x + cos?x) dx =

A 0
C. sin2x+c¢

X —tan x

Sec X - tan x
X —1tan X

Sec X
COSeC X

Sec X
Ccosec X

—cos3x+c
1
-3 COS 3x+C

—CcoS3X+cC
1
-3 CoS 3x+cC

—sin(2x)
sin(2x — 3)
2

—sin(2x)
sin(2x — 3)
2

xX+cC
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Y,

56.

S7.

uo,

58.

uc.

59.

Yz,

60.

< 0.

61.

<1.

62.

[(sin?x + cos?x) dx =

A 0

C. sin2x+¢

Area covered by the curve x% + y? = 4 is
A 2@

C. 16m

45 x2 +y? = 4 LA UAA Uz A5
A 2@

C. 1eém
1
f—az_xz dx=___ .
A. 1 I |X — a|
2a °9 x+a
C. 1
alog\/x +a
1
Jo—dx =
A. 1 I |X - a|
2a °9 xX+a
C. 1
Elog\/x +a
1A J— 1 —_— —_—
If f'(x) = = and f(0) = 0then f(x) =
A x
C. tanx
A (x) = le+1 24 £(0) = 0 Gl Al f(x) =
A x
C. tanx

B. 1
D. x+¢
B. 4n
D. 4
1A,
B. 4n
D. 4
B. 1 l |x + a|
2a °9 X—a

D. None of this

1 l ‘x+a‘
2a °9 XxX—a
D. None of this

B. x2
D. x+tanx

B. x2
D. x+tan x

The area enclosed by the curve y = x?2, the X-axis and line x = 2 is

A. 32 B. 16
3 3
C. 8 D. 64
3 3
A5 |y = x24 X- 248t A 3l x = 2 4l D4d Ued Asgu
A. 32 B, 16
3 3
C. 8 D. 64
d 3 3
e ax
i —T=—
A 1 B. 0
C. e D. e-1
e dx
[
A 1 B. 0
C. e D. e-1
For the data 13, 11, 15, 23, 34, 32, 12, 23, 33 median is
A. 23 B. 32
C. 34 D. 11
HUlGdldi 2aaisl 13, 11, 15, 23, 34, 32, 12, 23, 33 614 dl #4324
A. 23 B. 32
C. 34 D. 11
For the data 5, a, 6, 18, 12 mean is 9 then a = )
A. 5 B. 4
C. 6 D. 18
UGl A94ai51 5, a, 6, 18, 12 HI2 6yl Hs 9 Sld dla=
A. 5 B. 4

_(B)

99,

units.



C. 6 D. 18
For information mean is 1.43 and median is 1.32 then mode is _.

63. A. 1 B. 1.1
C. 1.2 D. 09
ofl HUlSAlAL HoAs 1.43 ot W19 1,32 Gl dlLolgds .

3. A 1 B. 11
C. 1.2 D. 09
For information 5, 7, 10, 13, 12, 6, 17, mean deviation from meanis __ .

64. A. 4 B. 342
C. 3 D. None of this
ofl Ul #adis<l 5, 7, 10, 13, 12, 6, 17 14 AL He4sell Aqz19 ([Aadd

<¥. A. 4 B. 342
C. 3 D. None of this
The range of the data 17, 15, 25, 34, 32 is .

65. A. 18 B. 19
C. 34 D. 17
wqdisl 17, 15, 25, 34, 32 -l [AzdI2 A,

su. A. 18 B. 19
C. 34 D. 17
For the observation -5, 5, -2, 8, -8, 6, 0,-1 and -10, median =

66. A. O B. 1
C. 2 D. -1
wAdisL -5, 5, -2, 8, -8, 6, 0, -1 i -10 HI24 {42y =

<. A. 0 B. 1
C. 2 D. -1
Formula of mean deviation from median is .

67. A 6M=%Z|xi—M| B. 5M=Z|xi—M|
C. sMm= lei — 7 D. None of Above
Wzl U9 (Audd 4y K[P

<9, A 5M=%Z|X1—M| B. 6M:Z|XL—M|
C. sm= lei — D. None of Above
Mean of the first n natural number is :

A I B. n—1

68. 2 >

c.n 1 D. n+1
2 2

ULH N ULS[ds HoAldl Heads 9.

A I g B. n—1

<. 2 >
c.n 11 D. n+1

2 2
Mean deviation of n observations x4, x,, ... ..... X, USInNg mean x is
A. n B. &

n )l - A Dl -

69.

C. 1& D. None of this
_Z|xi — x|
n i=1

X1, X e vee - Xy 2AAGSll HEAS <Al GUALRL 53] A9 (A

Sl. A. - _ B. < _
n ) lx -3 Dl -
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C. 1< D. None of this
EZIxi — x|

i=1
Mode of observations 12,1,7,6,5,4,8,6,9,11,6,12,5,7,6 is )

70. A. 5 B. 6
C. 12 D. 7
12,1,7,6,5,4,8,6,9,11,6,12,5,7,6 il 6l

90. A 5 B. 6
C. 12 D. 7

*,kkkhkkhkkkhkkhkkhkkkhkkhkkk
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